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QUESTION 1

You set up two network channels for server -to-server communication. You want channel x to be used more than
channel Y, so you give channel x a higher channel Weight. You want to see if indeed channel X is used more.

You use the administration console and look at both channels under each one\\'s Monitoring tab. What scenario would
best assure you that channel x has an overall higher connection rate?

A. Channel X Bytes Sent is higher.

B. Channel X Bytes Received is higher.
C. Channel X Accept Count is higher.
D. Channel X Connections is higher.

Correct Answer: D

QUESTION 2

You want to configure WebLogic server transactions to be recoverable when a nonclustered managed
server crashes, even if that crash is caused by an unrecoverable hardware failure. You want to run the
managed server on different hardware, and have it recover the transactions that were in-progress at the

time of the crash.

You also want to use the default store for transaction logs.

Which statement is true?

A. This scenario is not possible .You must use the JDBC store to recover transactions from a crashed server.

B. This scenario is not possible. You must use clustered managed servers to recover transactions from a crashed
server.

C. This scenario is common , and so the default configuration of the default store works.

D. Before the crash ,you need to update the path to the default store for the managed server. The path should be to
some shared storage location.

E. After the crash, obtain a copy of the managed server\\'s default store from the administration server. Move it to the
same relative location on the new hardware before starting the managed server there.

Correct Answer: D

QUESTION 3
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Consider a domain that includes a dynamic cluster of three servers. Your network administrator requires all servers to
bind the specific domain name mycompany.com.

Which Administration console action implements this requirement?
A. Use a $(macro)in the server templates listen address.

B. Assign each dynamic server a separate machine.

C. Create multiple server templates for the cluster.

D. Update the cluster\\'s listen address prefix.

Correct Answer: A

QUESTION 4

Consider an existing nondynamic cluster that is currently hosting many libraries, applications, and data sources. You
need to scale out this cluster to include a new server. You provision the domain on new machines.

What are the two ways to create this new server in the domain configuration?
A. Use the Configuration Wizard to add a new server to the cluster.

B. Use pack and unpack to copy an existing server in the cluster.

C. Use the Administration Console to add a new network channel to the cluster.
D. Use the Administration Console to clone an existing server in the cluster.

Correct Answer: AD

QUESTION 5
Select two true statements about WebLogic Server\\'s role in transaction management. (Choose two.)
A. You can configure WebLogic Server JTA properties at the domain, cluster, and server level

B. WebLogic Server can act as the transaction manager for multiple transactional resource managers during a
distributed transaction

C. WebLogic Server supports transactional work managers

D. Starting with WebLogic Server 12c, you can create two kinds of clusters: the "standard" cluster, as in previous
versions, and the new transactional cluster

E. WebLogic Server supports transactional Enterprise Java Beans

Correct Answer: AC
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